PLANT ENTERPRISES PRODUCTION

_	Number of		Yield per	Total	Units of	Gross Farm
Crop	Producers	Acres	Acre	Production	Measure	Value
COTTON						
Lint - Irrigated		10,663.0	970.00	10,343,110	lbs.	\$5,378,417
Lint - Non-irrigated		2,666.0	780.00	2,079,480	lbs.	\$1,081,330
Seed - Irrigated		10,663.0	1,552.00	16,548,976	lbs.	\$910,194
Seed - Non-irrigated		2,666.0	1,248.00	3,327,168	lbs.	\$182,994
Cotton (Total)	43	13,329.0				\$7,552,935
FORESTRY						
Pulpwood						
Hardwood				9,080	cords	
Pulpwood (Total)				9,080		
Saw Timber						
Hardwood				308,824	board feet	
Saw Timber (Total)				308,824		
Total Pulpwood, Chip & Saw,	,					\$756,574
Saw Timber FOB Mill						
Total Forestry Stumpage						\$283,149
Forestry (Total)						\$756,574
FRUITS						
Blueberries	*	4.0	3,000.00	12,000	lbs.	\$15,000
Peaches	*	30.0	70.00	2,100	bu.	\$63,000
Fruits (Total)		34.0				\$78,000
FEED GRAINS						
Corn	70	20,661.0	160.00	3,305,760	bu.	\$7,570,190
Grain Sorghum	50	6,947.0	50.00	347,350	cwt.	\$1,389,400
Oats	20	835.0	70.00	58,450	bu.	\$138,527
Feed Grains (Total)		28,443.0				\$9,098,117
HAY FOR SALE						
Grass	30	1,000.0	3.00	3,000	tons	\$150,000

PI.	ANT	ENTER	PRISES	PRODUCTION

	Number of		Yield per	Total	Units of	Gross Farm
Crop	Producers	Acres	Acre	Production		Value
Hay for Sale (Total)		1,000.0				\$150,000
HOME GARDENS	300					\$90,000
PECANS						
Improved	*	200.0	600.00	120,000	lbs.	\$138,000
Native	30	50.0	150.00	7,500	lbs.	\$4,500
Pecans (Total)		250.0				\$142,500
RICE	18	5,785.0	81.00	468,585	cwt.	\$2,600,647
SOD PRODUCTION	*	281.0			acre	\$996,426
SOYBEANS	110	22,936.0	35.00	802,760	bu.	\$5,338,354
SWEET POTATOES						
Canning				614,475		\$1,228,950
Fresh				1,433,775		\$25,807,950
Sweet Potatoes (Total)	62	5,462.0	375.00	2,048,250	bu. (50 lbs.)	\$27,036,900
VEGETABLES						
Cucumber						
Fresh	*	1.0	200.00	200	bu. (50 lbs.)	\$2,000
Cucumber (Total)		1.0				\$2,000
Eggplant	*	1.0	300.00	300	bu. (33 lbs.)	\$4,500
Irish Potatoes						
Fresh	*	4.0	200.00	800	cwt.	\$24,000
Irish Potatoes (Total)		4.0				\$24,000
Lima Beans						
Fresh	*	4.0	100.00	400	bu. (32 lbs.)	\$12,000
Lima Beans (Total)		4.0				\$12,000
Mustard (Fresh)	*	8.0	600.00	4,800	doz. bunches	\$33,600
Okra (Fresh)	*	2.0	225.00	450	bu.	\$9,000
Peppers						
Bell	8	2.0	500.00	1 000	bu. (28 lb.)	\$15,000

PLANT ENTERPRISES PRODUCTION

	Number of		Yield per	Total	Units of	Gross Farm
Crop	Producers	Acres	Acre	Production	Measure	Value
VEGETABLES						
Peppers (Total)		2.0				\$15,000
Pumpkin (Fresh)	*	15.0	120.00	1,800	cwt.	\$36,000
Southern Peas (Fresh)	6	70.0	80.00	5,600	bu. (24 lbs.)	\$112,000
Squash (Fresh)						
Yellow Squash	8	5.0	170.00	850	bu. (45 lbs.)	\$10,200
Squash (Fresh) (Total)		5.0				\$10,200
Tomatoes (Green Mature)	10	20.0	1,200.00	24,000	boxes (25 lbs.)	\$240,000
Turnips (Fresh)	6	15.0	450.00	6,750	doz. bunches	\$47,250
Watermelon	*	8.0	150.00	1,200	cwt.	\$7,200
Vegetables (Total)		155.0				\$552,750
WHEAT	62	11,970.0	60.00	718,200	bu.	\$2,312,604
TOTAL ALL PLANT ENTERP	RISES	-				\$56,705,807

FISHERIES & WILDLIFE ENTERPRISES PRODUCTION

Fisheries	Number of Producers	Units of Production		Total Production	Units of Measure	Gross Farm Value
AQUACULTURE	*	20	D 1	0.000	11	Ф5 200
Crawfish (Farm)	*	30	Acres in Prod.	8,000	lbs.	\$5,200
Aquaculture (Total)						\$5,200
FUR ANIMALS				163	pelts	\$864
HUNTING LEASES	*	1,000	No. Acres Leased		acre	\$5,500
HONEY	7	111	No. Hives	13,000	lbs.	\$17,550
TOTAL ALL FISHERIES &	& WILDLIFE ENTERPRISES					\$29,114

ANIMAL ENTERPRISES PRODUCTION

WEST CHRICOLE I'M	Number of	Units of	Total	Units of	Gross Farm
Animal	Producers	Production	Production	Measure	Value
CATTLE & CALVES					
Steer Calves					
300-400 lbs.			1,200	head	\$436,044
400-500 lbs.			1,500	head	\$627,008
500-600 lbs.			1,000	head	\$459,470
600-700 lbs.			600	head	\$312,000
Steer Calves (Total)					\$1,834,522
Heifer Calves					
300-400 lbs.			1,000	head	\$320,110
400-500 lbs.			1,100	head	\$414,662
500-600 lbs.			1,000	head	\$425,920
600-700 lbs.			100	head	\$48,750
Heifer Calves (Total)					\$1,209,442
Yearling Cattle					
600-700 lbs.			300	head	\$156,000
700-800 lbs.			200	head	\$112,500
Yearling Cattle (Total)					\$268,500
Cow-Calf Pairs				pair	\$72,000
Cull Cows				head	\$148,601
Cull Bulls			50	head	\$36,525
Cattle & Calves (Total)	190	12,500 No. Cows			\$3,569,589
DAIRY					
Dairy Cows					
Milk	*	130 No. Adult Cow	, ,		\$166,073
Cull Cows				head	\$7,284
Bull Calves			50	head	\$1,375
Dairy Cows (Total)					\$174,732
Dairy (Total)					\$174,732
HORSES					
Brood Mares					
Recreation Horses	30	200 No. Brood Mar	es 40	head	\$60,000
					Page 4 of 5

ANIMAL ENTERPRISES PRODUCTION

	AINIVI	AL ENTERI RISES TRODUCT	1011		
Animal	Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value
HORSES					
Brood Mares (Total)					\$60,000
Show Horses	8		10	head	\$40,000
Recreation Horses	150		400	head	\$400,000
Horses (Total)					\$500,000
GOATS					
Show Goats			25	head	\$3,750
Slaughter Goats			25	head	\$2,125
Stocker Goats			10	head	\$650
Cull Goats			20	head	\$840
Goats (Total)	25	500 No. Does			\$7,365
TOTAL ALL ANIMAL E	ENTERPRISES				\$4,251,686
WEST CARROLL PA	RISH TOTAL				\$60,986,607